TEST DI PROVA T 15/b 1003 N
@ S he R >R dedvebste € &0
hix)
%m = (x50 R 58 A 2
loleolor %‘(}l ¢ | bepenl clu hio1=1 € MW=2, hpi=T
wl g
C()&/H« 9{103_

@ éﬁéc{é@m [ v [C —\—’: ( ( %)%z]

N —> o

@ Muﬁ&u 1w /Ko%@oscm) e

Xx—>0% 2
CCK..l)

0 gﬂ,e, {. L - l 13— }[Z/ (,«9%1?‘1:%,&/ Lo %["’/: l/' ﬁﬁl:-}‘

@l Tl Seprent g Sepme
mwsswwwwvd‘ W ”P"F =~ 2

® Veel-413 essh 1= dn> €
(® Feefr,y hbohe fer=
© Ieelr,q tbe e fir £
@ ??E lecnusenli e [-1,1].



w %L%m/-fvﬁ’ﬁpi
gy1= ( ﬁf@‘ z))h”‘ L‘L""{”/[ﬂ'
fbl/

- f’@tr el"(}/&f@ +1)
[hw ﬁf{xﬂ/f hw/ :(

-t‘l-

= ;ﬁ'(u~ hil
z 2% l
o . [M*}-/fm(y-ézH hot &3
- 2% L Tr/&)ﬂz;,,.z:(



